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INTERNATIONAL AND AREA STUDIES
Paper — 111
Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  Who opined that “if there is any distinctively political theory of international polities,
balance of power theory is it” ?

(1) Kenneth Waltz (2) E.H.Carr
(3) Arnold Wolfers (4) K.W. Thompson
2. ldentify the author who stated in the early nineties that ‘we are entering an era when

foreign policy and national security will increasingly revolve around our commercial
interests and when economic diplomacy will be essential to resolving the great issues of
our age’ from the following :

(1) M. Albert (2) D. Baldwin

(3) D. Campbell (4) J. Strenslan

3. Arrange the following occurrences in ascending chronological order and use the code
given below :
I. First testing of an explosive nuclear device by China.
ii.  First testing of an explosive nuclear device by the U.K.
iii.  First testing of an explosive nuclear device by France.
iv.  First testing of an explosive nuclear device by the erstwhile Soviet Union.

Codes :
@) i, ii, iii, iv (2) v, ii, i, i
(3) i, dii, v, i (4) il v, i, i

4. Which one of the following arguments is opposite to the idea of regionalism as building
blocks ?
(1) Such arrangements enhance the prospects of multilateralism.
(2) It can give positive turns to the effects of liberalization.
(3) Regional agreements are often more to do with political or strategic alliances.
(4) Regionalism may contribute to international frictions between competing blocs.

5. Match the following regional organisations as given in List-1 with their specific regions in
List-11, and use the code mentioned below :

List- 1 List— 11
(Regional Organisations) (Regions)
a. Caribbean Community (CARICOM) I. Asia
b. Economic Community of Great Lakes Countries ii. Europe
c. Visegrad Group (V4) ii. Africa
d. Gulf Cooperation Council (GCC) iv. Americas
Codes :
a b c d
Q) iv i ii [
2 i i i v
(3) i v i i
(4) i iv i
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10.

11.

Identify the correct code for the Assertion(A) and Reason (R) as given below :

Assertion (A) : Realism sees states in a highly competitive and dangerous environment in
which they must do whatever is inevitable to survive.

Reason (R) : States are therefore forced to play the balance of power game.

Codes :

(1) (A)is correct, but (R) is not correct.

(2) (A)is not correct, but (R) is correct.

(3) Both (A) and (R) are correct.

(4) Both (A) and (R) are not correct.

The Syracuse Principles on Human Rights are related mainly to which one of the
following ?

(1) Public order issues

(2) Cultural Identity issues

(3) Justification of limitation clauses

(4) Moral issues

Identify the correct code for the Assertion(A) and Reason (R) as given below :

Assertion (A) : Judicial statehood refers to states that are constitutionally independent and
recognised as sovereign and enjoy membership in international organisations.

Reason (R) : Empirical statehood refer to states with strong political institutions, solid
economic basis and a substantial degree of national unity.

Codes :

(1) (A)is correct, but (R) is not correct.

(2) Both (A) and (R) are correct.

(3) (A)isnot correct, but (R) is a corroboration of (A).

(4) Both (A) and (R) are incorrect.

Who among the following opined that the balance of power was “the product on the one
hand of geographical conditions, both economic and strategic, on the other hand of the
relative numbers, virility, equipment and organisation of the competing peoples ?”

(1) N.J. Spykman (2) S.P.Cohen

(3) Colin Gray (4) H. Mackinder

Arrange the signing of the following treaties in the ascending chronological order by using
the code given below :

I. Threshold Test Ban Treaty ii. Partial Test Ban Treaty
iii.  Quterspace Treaty Iv. Ottawa Treaty

Codes :

@) i, i, dii, v (2) i, i, i, iv

(3) i, v, i, i (4) v, ii, iy i

Arrange the following treaties in the ascending chronological order and use the code given
below :

I. Lisbon Treaty ii.  Nice Treaty
iii.  Mastricht Treaty iv. Paris Treaty
Codes :

Q) i, i, iy v (2) i, i, v, i
(3) v, iii, i, i (4) i, v, i, i

Paper-I111 4 J-90-16
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12.

13.

14.

15.

16.

Ottawa convention aims to ban which one of the following ?
(1) Anti-vehicle mines

(2) Anti-personnel mines

(3) Cluster ammunitions

(4) Mines being used for training purposes in mine detection, clearance or destruction
techniques

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : It is the occurrence of war, the use of organized violence as a method of
resolving conflict among states that concerns us here.

Reason (R) : However, the major armed conflicts tended to be intra-state rather than
inter-state.

Codes :

(1) Both (A) and (R) are correct, but (R) is not the explanation of (A).
(2) (A)is correct, but (R) is not correct.

(3) (A)isnot correct, but (R) is correct.

(4) Both (A) and (R) are incorrect.

Arrange the following in the ascending chronological order using the code given below :
i. UN Millennium Summit to formulate MDGs

ii.  Cairo Conference to address population issues

iii.  Rio Conference to address environmental issues.

iv.  Vienna Conference to address human rights issues.

Codes :
@) i, i, iii, iv (2) i, v, i i
(3) i, iii, v, i (4) v, i, iii, i

Arrange the following in the ascending chronological order and use the code given below :
I. ‘Open Skies’ Treaty came into effect

ii.  Baruch Plan

iii. Project RENEW

iv. INF Treaty

Codes :

@ i, i, iii, iv (2) i, i, v, i
(3) i, v, dii, i (4) v, i, i, i

Who among the following thinkers observed the link between “Defence” and “Opulence” ?
(1) M. Sheehan (2) Adam Smith
(3) Robert Keohane (4) Joseph Nye

Paper-I111 6 J-90-16
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17.

18.

19.

20.

21.

Paper-I111 8

Match the following leaders mentioned in List — | with their native countries mentioned in
List — Il and use the correct codes given below :

List— 1 List— 11
(Leaders) (Countries)
a. Abdul Fattah al Sisi i. lran
b. Habib Bourguiba ii. Palestine
c. Hassan Rouhani iii. Tunisia
d. Mahmoud Abbas iv. Egypt
Codes :
a b c d
Q) i v i ii
(2) ii i i v
(3) iv i i i
4) i i iv il

Match the following books mentioned in List — | with their authors in List — 11 by using
the correct codes given below :
List— 1
(Books)
a. Clash of Civilization and the re- .
making of world order
b. The Sphinx and the Commissioner ii.
c. Arabic Thought in the Liberal Age iii.
d. The Arab Awakening : The Story of iv.
the Arab National Movement

List— Il
(Authors)
Albert Hourani

Samuel Huntington
George Antanius
Mohammed Heikal

Codes :

a b c d
@ i v i iii
(2) i i iv i
3) iv i iii i
4) i iii iv i

To counter the Bible teaching, “Seek ye first the Kingdom of God’, who among the
following African leaders said, “Seek ye first the Kingdom of Politics.”

(1) Milton Obote (2) Jomo Kenyatta

(3) Kwame Nkrumah (4) Idi Amin

Find out the name of the first Prime Minister of Burma from among the leaders given
below :

(1) U Thant
(3) Aung San

(2) UNu
(4) NeWin

Which Iranian port has direct access to the Indian Ocean ?
(1) Bandar Abbas (2) Chabahar
(3) Bushire (4) Kish Island

J-90-16
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22. ldentify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The concoction of the process of decolonization and bipolar dynamics of
the Cold War extended into the Middle East, where two conflicting nationalist
movements, viz. Zionism and pan-Arabism, were made to clash repeatedly.

Reason (R) : During the Cold War period, super power involvement in the Middle East
affairs was limited but tangible.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A)is correct, but (R) is not correct.

(4) (A)is not correct, but (R) is correct.

23. Arrange the following in ascending chronological order of their year of establishment with
the help of the codes given below :
a.  Economic Cooperation Organization (ECO)
b.  Organization of Islamic Cooperation(OIC)
c.  Regional Cooperation for Development (RCD)
d.  Organization of Islamic Conference (OIC)

Codes :

1) a b c d
2 c d a b
(3 b c a d
4 d a c b

24. *Culture System’ was the brain child of which one of the following European officers in
Southeast Asia ?
(1) Stamford Raffles (2) Paul Doumer
(3) Van den Bosch (4) Edward Dekker

25. Identify which one of the following countries was penetrated more by the Europeans
culturally and religiously than the other countries in Southeast Asia :
(1) Vietnam (2) Indonesia
(3) Malaysia (4) The Philippines

26. Identify one among the following areas where the Spanish established their first settlement
in Southeast Asia :

(1) Cebu (2) Mindanao
(3) Sulu (4) Manila
27. In which one of the following years the Mongols completed the Conquest of China ?
(1) 1215 (2) 1279
(3) 1285 (4) 1292

28. The initiative “One Road, One Belt (OROB)” by the Chinese President Xi Jinping is
aimed to achieve which one of the following objectives ?
(1) Military advantage in Asia
(2) Gain upper hand in South China Sea
(3) Speed up reforms in China
(4) Gain economic advantage by reviving the old silk Road
Paper-111 10 J-90-16
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29.

30.

31.

32.

33.

34.

35.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : India, through its accession to ASEAN’s Treaty of Amity and
cooperation, has reaffirmed ASEAN’s territorial integrity and sovereignty.

Reason (R) : The Southeast Asian nations themselves have begun to gradually recognise
India’s military capacity to contribute to the stability of the region.

Codes :

(1) Both (A) and (R) are correct and (A) supports (R).

(2) Both (A) and (R) are incorrect.

(3) (A)is correct, but (R) is not correct.

(4) (A)isnot correct, but (R) is correct.

Javanese King Krtangara was considered as an incarnation of which of the following :

(1) Buddha (2) Siva

(3) Siva-Buddha (4) Vishnu

Indo-China Communist Party was established in 1930 in which one of the following cities:
(1) Hanoi (2) Hong Kong

(3) Ho Chin Minh City (4) Macau

Hassanal Bolkliah of Brunei formally declared his country in 1990 as

(1) Islamic Brunei (2) Independent Brunei

(3) Malay Muslim Monarchy (4) Brunei Republic

Among the religious mentioned below, which one is the majority religion in Southeast
Asian countries :

(1) Hinayana Buddhism (2) Mahayana Buddhism

(3) Islam (4) Christianity

Identify the correct set of countries which are India’s strategic partners from among the
following :

(1) UK, France, Germany, Italy

(2) China, Japan, North Korea, Mongolia

(3) Indonesia, Mauritius, Seychelles, Oman

(4) Uzbekistan, Kazakhstan, Tajikistan, Turkmenistan

Match the following leaders as given in List-1 with their countries in List-1l and use the
correct codes mentioned below :

List— 1 List— 11
(Leaders) (Countries)
a. Obafemi Awo Lowo i. Zambia
b. Keneth Kaunda ii.  Guinea
c. Sekou Toure iii. Tanzania
d. Julius Nyerer iv. Nigeria
Codes :
a b c d
1) iv i i iii
2 iv i iii i
3 iii v i ii
4 i i iv i
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29.

30.

31.

32.

33.

34.

35.

fefefad stfirser (A) 3R T (R) & el 3 1 TedH DT :

At (A) : 9RT 7 NG o B T TEANT WY H I gl ST i g Srgsar
3T WU i YR B |

a® (R) : ULy TS 3 A @ R g WA R TR & o IRa S e
79 & o T | IR S |

&

(1) (A)TE (R) IH & &, 31X (A), (R) T THIT AT & |

2) (A)wd (R)SHI Tord € |

(3) (A)TEE W(R) AT |

4) A)TETE RR)T T |

STTeT & GHTE Shel TR bl 7T H F {oheehT Ueh STad T 3T ?

1) 3= 2) fma

3) fEgs (4) foo

9 1930 § ‘FSI- AT FRE U 1 TNOT Fefeiad & F 5 o1e § i 7T off 2
(1) & (2) @rTHT

(3) @ A e (4) =H=

S & EOAT SielreRar § ¥ 1990 § 310 I h v w0 | =ifee ferar 2
(1) S=IH® ge . (2) @ g

(3) o R TSI (4) ¥ Rufstn
e & @ i 91 o 3T 49 uivrg St @ agEee u ¥ 2
(1) & s (2) weEH g a

(3) =wIHEH (4) o gd

fefafed 5 9 39 391 & W&t G & TedH HINT, S TR % s FEkR §
(1) I, Wid, ST, 2ol

(2) T, ST, SR IR, Tiferan

(3) SeMfTET, AP, W, 3TEH

(4)  SHfRETH, FAEEE, AR, THR

e ot T e ) T W e — | 3 e e S e — 11 3 R s di
3 1 A T

= - | = - 1
() (3T
a. TSI SfEtclel Q. ST
b. Y Hier ii. ffan
c. HhidR i, o
d. SerEd =R v, TESirE
&
a b c d
1 iv i i i
() iv i i
() i v i i
(4) i i v
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36.

37.

38.

39.

40.

41.

Identify the group of countries that are also affected by activities of Boko Haram beside
Nigeria :

(1) Mali, Benin, Ghana (2) Congo, Zambia, Angola

(3) Cameroon, Chad, Niger (4) Burkina Faso, Eritrea, Ethiopia

Name the country that was the worst hit country in Africa by the Ebola virus :

(1) Sierra Leone (2) Guinea

(3) Liberia (4) Senegal

Who among the following was the first Indian Commissioner in the British East Africa ?
(1) Maulana Abul Kalam Azad (2) V.B. Keskar

(3) Appasaheb Pant (4) Vijaya Laxmi Pandit

Which one of the following African country banned female from wearing veil to cover
their faces :

(1) Nigeria (2) Senegal
(3) Burkina Faso (4) Namibia

Match List-I (countries) with List-11 (years) in which their respective constitutions were
adopted, using the codes given below :

List— 1 List— 11
(Countries) (Years)
a. Afghanistan i. 1995
b. Uzbekistan ii. 1993
c. Kazakhstan ii. 1992
d. Kyrgyzstan iv. 2003
Codes :
a b C d
@ i i i v
(2) i i i iv
(3 i iv il [
4) iv i i i

Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : The civil war in Tajikistan in 1990s caused huge death, destruction,
economic losses and refugee problem.

Reason (R) : The civil war was caused by armed insurgency of the opposition forces and
cross-border incursions of armed bonds from Afghanistan.

Codes :

(1) Both (A) and (R) are not correct.
(2) (A)is correct, but (R) is not correct.
(3) Both (A) and (R) are correct.

(4) (R)iscorrect, but (A) is not correct.

Paper-111 14 J-90-16



36.

37.

38.

30.

40.

41.

TAESIRET & TI-H1F 37 3 % T I TedH iU, ST Sl &7 i Mdrareai ¥ off Tifad go
T

(1) e, af=, T (2) I, ST, el

(3) HHEA, TIE, AR (4) FipTwrE, i, st
frfefad 5 & I A1 TR 337 6ol IRy § Faitesh S ave Teifad ga o 2
(1) faux feaE (2) fmEr

(3) eI (4) T

ffafad 5 9 @i ffeet qaT STRIT 1 Teel TR SR o 2

(1) T S AT AL () @ FEw

(3) TR Ud (4) fosmamcres e

Fefeiad & § foh 997 = AfecTatl 51T Tohl TeehT 3791 8 & IX Hfaae ormar ?
(1) s (2) TATA

(3) dfFTETE (4) e

e T T T 1 T HA gT FE — | % IR0 w0 GE — |1 % 3T ot & e gaferd i,
ST 3ok WTeTTT bt TR TohaT T o

=it - | =it - 1
(F90) ()
a.  SAEMHEH i. 1995
b. Sl ii. 1993
C. @™ . 1992
d. feieam iv. 2003
&
a b c d
@ i i i v
@) i i i v
Q) i v i i
4 iv i i i

TetetEd a1 (A) iR T (R) & el 3 1 TedH DTy :

ARHAT (A) : 1990 o I H AISIHET H e J§ % HRUT g WH W Hid, fammer, s
TR 3T IO TET i et @ o |

& (R) ;39 € 5 BT HROT Ul o<l 1 A fagie 3R STEMEE & 9 et
! THT-UR gHUS o |

ETE

(1) (A) 3R (R) IHI Teid € |

(2) (AT E W (R) Tl T&IE |

(3) (A) 3R (R) I T & |

(4) (R)TEE, W (A) Tl F&I & |
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42.

43.

44,

45.

46.

47.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The recent signing of the Chabahar Port development agreement between
India, Afghanistan and Iran, marks a decisive push by India to reach out to its
‘extended neighbourhood’ in Central Asia.

Reason (R) : The successful launch of the Chabahar Project will depend on its speedy
execution and Indian ability to overcome various complexities in the region.

Codes :

(1) (A)iscorrect, but (R) is incorrect.

(2) (A)isincorrect, but (R) is correct.

(3) Both (A) & (R) are incorrect.

(4) Both (A) and (R) are correct.

Chronologically arrange the following institutions in ascending chronological order of
their year of establishment, with the help of the codes given below :

a.  Shanghai Five

b.  Eurasian Economic Union

c.  Organization for Security and Cooperation in Europe.

d.  Shanghai Cooperation Organization

Codes :

(1) cadb (2) a/b,cd

(3 d,b,ac (4) b,cda

Which of the following Asian countries headed the OSCE for the first time in 2010 ?
(1) India (2) Indonesia

(3) Kazakhstan (4) China

Arrange the following events in their ascending chronological order and use the code
given below :

I. Re-unification of Crimea with Russia.

ii.  Russian military involvement in Georgia.

iii.  Beginning of the Chechen Conflict.

iv.  Russian military involvement in Tajikistan.

Codes :

Q) i, i, i, v (2) v, il i i

(3) i, iv, i, i (4) i, i i, v

Which one group of the following Central Asian Republics are upstream countries ?
(1) Uzbekistan, Tajikistan (2) Tajikistan, Kazakhstan

(3) Kazakhstan, Kyrgyzstan (4) Tajikistan, Kyrgyzstan

Within the CIS, which countries constitute Russia’s strategic trading block from the
following :

(1) Azerbaijan and Georgia (2) Belarus and Kazakhstan

(3) Turkmenistan and Tajikistan (4) Estonia and Lithuania
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42.

43.

44,

45.

46.

47.

fefetEd sifivsrer (A) 721 9% (R) % Fel F i Tea ST :

AfUme= (A) BT & H YR, STHENHEH 3R W & &g OeeR S53Te 9% & aR |
AT g3, S YR §RT 97 TR § oo foiid USi’ 9% Ugd HiEH B % U
foTTaes o T GO § |

& (R) ;. TR URASHT 1 I HA Bl THATT STb oS T & B SR 39 &
T Ty STieetaren ¥ Mue @ IR &9t W 9 3 |

ETE

(1) (A)TE T (R)TATE |

(2) (A) 7T E, W(R) T T |

(3) (A) R (R) 31 ToAd € |

(4) (A) 3R (R) IHT W& E |

T ST T P FH TEN FA Y RIS T 3AH! ST & 99 & STRIE! HIoshd | oared
T

a. YT HEA

b.  TI-URER 3w Fa

c.  IUY H [T UF Al o [TT FiTe

d.  ¥ETE WEANT WS

HE

(1) cadb (2) a/b,cd

(3 d,bac (4) b,c,da

frfoiaa & & e TRmE <7 3 weet ar o 2010 T 37 TH 6l € i STEaT H 2
(1) wra (2) TemRmE

(3) FHomEEH (4) ==

TeATeATEd SeATsT ST 37 TRIE! HITHAMER A9 53 T2 e o Teidl ¥ SFared Hisg ;
i, &F % G SHIEAT T USR]

i, ST § w5 SAT St wiotedr

iii. oo g9 H e

iv. TISITREI | S5 S 3 Sieredn

T

@A) i, ii, iii, iv @) v, i, ii, i

@) i, iv, ii, i @) i, iii, i, iv

freferfaa T uferar 3 & w9E °§ @ D UL W 3w E ?

(1) SSHfhE™, AR (2) ITSIRETH, SFHeTEE

(3) e, fRTTeTEH (4) afferem, fpfsram

T 2ETE. & iR FH=TarEd § 9 & 9 39 €F o ST AR e H =0T &d § 2
(1) 3R Y St (2) TAET 3T FHTEEAH

(3) THAFEIF 3R AT (4) TEIHAT 3R feregemtaar
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48.

49.

50.

51.

In which Central Asian country listed below, Russians constitute the second largest ethnic
group after the main titular population ?

(1) Kazakhstan (2) Uzbekistan
(3) Tajikistan (4) Turkmenistan

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Russia’s foreign policy under Boris Yeltsin was marked by a drift from
Eurasianism to Euro Atlanticism.

Reason (R) : Yeltsin hoped to secure Western assistance to help Russia out of its
economic problems.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A)is correct, but (R) is not correct.
(4) (A)isnot correct, but (R) is correct.

Arrange the following Prime Minister of Nepal since 2008 in ascending chronological
order, by using the correct code given below :

a.  Madhav Kumar Nepal b. Prachanda

c. G.P.Kaoirala d.  Khil Raj Regmi
Codes :

(1) b,cad (2) c,bad

(3) dcb,a (4) ab,cd

Match the writers given in List-1 with their works in List-11 by using the corect code given
below :

List— 1 (Writers) List — 11 (Works)
a. Islam Karimov i.  The Grand Chessboard
b. Pervez Musharraf ii. Islam, Democracy and the West
c. Zbigniew Brzezinski iii. Inthe Line of Fire
d. Benazir Bhutto iv. Uzbekistan on the Threshold of
the 21° century

Codes :

a b C d
@ i i iv i
2 iv i i i
(3) i iv i [
(4) i i iv [
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48. i T2 T g URTETE ST B Gl W F fRT 391 | Tl AN ol SIS 39 I 3 AW alel S
I ST % AT T T TG oA TIE & 2
(1) FTEEE (2) IfHEE

(3) dSIREaA (4) A

49, TrefeIREd e (A) 1 @ (R) % T&l e i Ted it ;
Ao (A) : I Aodfed & gl % Sad ®E Bl fOew A Rfguer 9
“JUUSATIGSH’ St 3T TR T Goeh off |
& (R) ;. Aot J G B STIA TF FHERT ¥ AR & [ ufvedt qerdr ue
TS Y ofF |

ETE

(1) (A) 3R (R) IHT T & |

(2) (A) 3R (R) IHI Toid & |
(3) (A)TWIE W(R) T TRIT |
4 A)TETE RR)T T |

50. i 53 T He H TR @ a9 2008 ¥ AUl % ARG TEFEEET 3% el HIeshHTaR
AT FH § AT iU :

a.  TYE FAR AU b. WEE

c. SO e d. oo o=t et
FT:

(1) b,c,ad (2) c,b,ad

(3) dycba (4) ab,cd

51. ¥ XU T % H TAN HA §C Gl — | & @@ B G — |1 H AR FiaAi & 9 gaford

T -

=it - | =t - 1

(FrEh) (fera)
a. TEM HEE i, IEIwEE
b. RS NE ii. I%TH, SHIhE! US T O
c. Sicfoasg seo=bl  iii. 3T oA 3% FRR
d. ISR gt iv. SSSThEIH 37 T 9RTies 3T a1 aw! Hee ARl
&

a b c d

@ i i v i
@) v i i i
@) i v Qi
@ i i v
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52. Match the following castes in Sri Lanka with their traditional occupations with the help of
the codes given below :

a. Goyigana i.  Fishermen
b. Karava ii.  Cultivator
c. Salagama iii. Toddy Tapper
d. Durawa iv. Cinnamon Peeler
Codes :
a b c d
@ i iv iii i
(2 iv i i i
(3 ii i i v
4 i i iv il

53. Match the highways given in List-1 with the country/region given in List-1l they traverse,
by using the correct code :

List— 1 List— 11

a. Zaranj-Delaram Highway i. lIran
b. Chahabar-Zahedan Highway ii. Afghanistan
c. Karakoram Highway iii. Russia
d. Chuisky Tract iv. Pak-occupied Kashmir
Codes :

a b c d
@ i v
(2 ii [ iv i
(3) i i i iv
4) i i i v

54. The relevance of the Non-alignment Movement (NAM) has been questioned in the post-
Cold War period. Which statement below suggests that the NAM can still be relevant :

(1) NAM can still act as a powerful check against the undue dominance and hegemony
of any country or block.

(2) The NAM can still be a powerful institution to forge south-south cooperation.

(3) The NAM can be a bulwark against powerful international financial institutions like
the IMF and World Bank and make them more democratic.

(4) The NAM can act as a form to prevent military interventions in the developing world.

55.  What is the full form of the political party JVP in Sri Lanka ?
(1) Jathika Vimukthi Peramuna
(2) Janatha Vimukthi Peramuna
(3) Jakitya Vimukthi Peramuna
(4) Javiya Vimukthi Peramuna
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52. S {53 T e T TErEd & Sficie i FEicad Siqat S 39k WORET SFe9 & a1 gaferd
HIT :

a. AR Q. HSERT
b. =@ ii. FUH
c. O iii. dret e e
d. T iv. I deR
ETE
a b c d
@ i iv i i
@) iv @i i
@) i i i v
@ Q0 v i

53. i 53 T F b Feraar W gE — | 7 KU T I a6t g= — 1 H w37 el &
AT HTT S 2T o ToR ¢ |

= - | = - 1

a. SNO-SORM IR j. )W
b. TRERSRIH TSN ji. AR
C. HRIBRH TSTHAT i, IRmEr
d. oSz & iv. TR 3TTd HIHR
ETE

a b Cc d
Q) i i v i
@ i i v il
@) @i i i v
@ i i i v

54, 3 JHRR FeT § T2 FRUeT SR (NAM) W W9 foe e Tan & | =i fSu 70 ot o i

T T T & fo 72 FRueT stiior onft oft orifiTes &t weha € 9

(1) T Rt g endt off fohelt 391 a1 =T ([2) o ordifed s 3R iUy % faeg
T JSamelt e & ®0 H 1 6 a1 ¢ |

(2) g{ﬁ?&ﬂ&ﬁmwﬁ%ﬁﬁwwmﬂaﬁaﬁmaﬁwwﬁwﬁm
|

(3) e U SEIe SMETAUE R fova e Sl SioReTed o Tensti & [a6g s s=mE-
IR & Tehelt & 3T 3¢ AP A 1eh ST Fhell & |

(4) @ﬁ?ﬂ&ﬁm%mmgﬁmﬁ%mﬁﬁﬁﬁm%%ﬁ%wﬁmw
THATE |

55.  sficieht | ISTITeh ot — ST, 31 IR 19 41 § 2
(1)  Tices fergfert WRrgT (2) e fomferT ORI
(3)  Tifchean feregferey TR (4) feran forgfert WA
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56.

S7.

58.

59.

60.

Which one of the following Kashmir territories was recovered by India from Pakistan’s
control in the 1971 war ?

(1) Dras (2) Turtuk
(3) Kargil (4) Tanghdar

Identify the correct code from the codes given below for the Assertion (A) and Reason (R) :

Assertion (A) : The emergence of radical and violent religious movements poses serious
challenge to secular and democratic polity, pluralistic social order, inter-religious
harmony, security and territorial integrity of the states in South Asia.

Reason (R) : So the governments and societies need to preserve, restore and emphasise
the traditional and diverse religious practices and institutions, and eliminate
intolerance, hatred and discrimination.

Codes :

(1) Both (A) and (R) are not correct.
(2) Both (A) and (R) are correct.

(3) (A)is correct, but (R) is incorrect.
(4) (R)iscorrect, but (A) is incorrect.

As part of bridging the digital divide within the African continent who, among the
following, proposed setting up of pan-African E-Network :

(1) Pranab Mukherjee (2) LK. Guijral
(3) A.P.J. Abdul Kalam (4) Manmohan Singh

Who among the following was the commander of the first ever all-female UN peace-
keeping contingent from India and deployed in Liberia ?

(1) Kiran Bedi (2) Seema Dhundia
(3) Santosh Yadav (4) Meera Borwankar

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The Bangladesh military is heavily politicised, and it’s a major force in
Bangladeshi politics.

Reason (R) : Evidently, after independence, there was a split in the Bangladeshi military
between those who were described as “freedom fighters” and those who were called
“returnees”. The integration of Mukti Bahini into the Bangladeshi Army further
added to politicisation.

Codes :

(1) Both (A) and (R) are correct and (R) support (A).
(2) (A)is not correct, but (R) is correct.

(3) Both (A) and (R) are not correct.

(4) (A)is correct, but (R) is not correct.
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56.

57.

58.

59.

60.

1971 % g T 9RA = Yiehet™ o =01 ¥ HvAR & Fefeiad a6 o 9 fhaest g.ume 5o 2

(1) s (2) qE*
(3) HRATA (4) ERR

ATTFIA (A) 3R T (R) & o A 52 T8 WEl e 1 =93 T

At (A) : Tigdrr don Eas aife STgier ¥ SR i & TS § guibRaeT qen
% fo1e iy @awr sufer giar € 1

a® (R) ;3T TYRI AT FHST ol TR qe fafee ey Rarsti ua ST & Seeior
T RO T8 3 W g1 [Gd W q°0 SRS ARG U6 HeE §E S 6
SMIYIHAT € |

ETE

(1) (A) 3R (R) IHI Teid & |

(2) (A) IR (R) I T |

(3) (A)Tel g, W (R) Tt & |

(@) (R) W g, W] (A) T & |

TR TETET & fiaw fefSteet foe &t wrest &q Fefefaa § @ fae 99 3nhie g-eas
T e T U fohar o ?

(1) Yo q@sit (2) 3. TR

(3) TS, 375l FHed (4) wERA &g

frefafEd # 9 &9 9Rd | 99 T I eENar § oA 6T T Afectte B Gged g oM
TeTeh =T oA Bl AT o 2

(1) oo =t (2) dmr grean

(3) Hdw A=A (4) TRT IREFHT

T=AiTeRe a1fireher (A) 3R @ (R) & foTT @t 3 1 Ted HifTy ;

AU (A) : TR TAT BT AR TSR g3 & SR T8 TR ToTia o T gl
ST & |

& (R) : VMO &Y H, TSI & ST SISl 91 39 o o faifoid e e, S 9
TS WIS G F FT T A0 ¢ IR g o o ST uifhee | “olied aet”
FEA | GFTaTET T TSI T H ThIH0T H TH ISTAITEh0T i ST et e |

YA

(1) (A) 3R (R) HI W& €, 3R (R), (A) FUAHT |

(2) (A) T = g, T (R) W& € |

(3) (A) 3R (R) I W&t &l & |

(4) (A WEIg, v (R) T&r F&1 & |
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61.

The Kyoto Protocol to the UN Framework Convention on Climate Change which was
ratified or acceded to by over 120 States, was hot ratified by which one of the following
countries ?

(1)
(3)

France
Russia

)
(4)

Great Britain
United States of America

62. Arrange the following strategies that were adopted for protecting and strengthening the

US economy by the leaders :

63.

64.

65.

Paper-I111 24

a.  Imposition of oil import quotas.

b.  Imposition of quotas and subsidies for domestic agriculture.
c.  Import restrictions on British Steel.

d.  Import restrictions on textile products.

Codes :

(1) b,cad (2) c¢,bad

(3 dachb (4) adb,c

Arrange the following cases of impeachment/dismissal in ascending chronological order
with the help of the codes given below :

a. Bill Clinton b.  Andrew Johnson
C. G. Thomas Porteons d. Harriet Miers
Codes :

(1) c,adnb (2) b,adc

(3 b,ac,d (4) ab,dc

Which one of the following was the primary reason for the U.S. failure in Vietnam war ?
(1) The US did not use enough fire-power.

(2) The US miscalculation of the reasons for Vietnamese struggle.

(3) The Non-Communist Vietnamese did not support the US.

(4) Less motivation among the US forces.

Match the following historical events/steps mentioned in List-1 with the then US
Presidents in List-11, by using the code given below :
List- 1
(Events/Steps)
a. Brady Law and Violent Crime 1.
Control Act, 1994

List— 11
(US Presidents)
Ronald Reagan

b. The Fourth Nuclear Security ii. Dwight D. Eisenhower
Summit Speech

c. INF Treaty iii. Barack Obama

d. “Atom for Peace’ Speech iv. Bill Clinton

Codes :
a b C d

@) iv i i i

2 i i i v

(3) ii [ iv i

(4) iii v ii [
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61.

62.

63.

64.

65.

A URET W HGHT T ERET FoH & IR § el Wt & 120 | o ik 9 3
arfvgfie bt off a1 SqehT bR Tk o, e frfefad | F o 391 = saen aifvygfte & = ot 2
(1) %™ (2) U< oA

(3) e (4) HgHT T SR

frfafeaa Yoot st et ST, = Jaret §RT SR STleqawa St R 31T qsfad! &
o St fopa T o

a. ol (3TTFeT) ST il ] AT |

b.  TRe] BT & T hieT 3T AlTEST AN] HET |

c. Tofewr Eet W e ufdey |

d. HICRA-IURI W A-Afae |

HT

(1) b,c,ad (2) c,b,ad

(3 dachb 4) adDbc

T 5@ T F2 AT W WA/ & FEfcRad Ael i 3 SIREN FIe hH |
AT HIT :

a. fooT foreres b. UL S
c. ST IHg Uit d. eRer g
ET

(1) c,adnb (2) b,adc
(3 b,acd (4) a/b,dc

=it & & SIF faudm g5 o TR ot fawetdr 1 @ HROT o 2
(1) 2R 3 Taie AT=IIeRT T SUANT el 6 |

(2) TouETH HEY % HROT FH SERET FRT T STTEA |

(3) TR-wHe fauamat 3 et 1 e @ o |

(4) 3TOReR TR Tl | AR St |

T — | § A St i ofdeiiaes geAtsti/agt Bt gat — |1 | ST dehiet= STHRER! ITegufaat &
Y 1A T T HT FANT b GHTAT DT -

= - | = - 1
(STEAT/HEN) (smfiept Ircufe)
a. SIS o 3R arFeic e halel U9, 1994 i, JFTeg 0
b. =Y <EAeR fGeRRel A ST ii. T . SRR
c. 3% T UF WY jii. SR T
d. ‘UeH ®R U SsToT iv. foeT fRetest
ETE
a b c d
O
@ i i i v
@ i i v i
@ i v i
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66.

67.

68.

69.

70.

Paper-I111

Match List — I (Events) with List — Il (Countries) with the help of the codes given below :

List— 1| List— 11
(Events) (Countries)

a. Civil Uprising i. Panama

b. Military Coup ii. CostaRica

c. Civil War iii. Nicaragua

d. Social Unrest iv. Honduras

Codes :

a b c d

@) iv i i i

2 i iv i i

(3) iii i i v

4) i i v

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Political outcomes in Latin America derive largely from the social class
structure of each country.

Reason (R) : The political system in Latin America rarely reflects people’s choice.

Codes :

(1) (A)and (R) are correct.

(2) (A)is correct but (R) is not correct.

(3) (A)is not correct, but (R) is correct.

(4) Both (A) and (R) are incorrect.

Identify the meaning of *balloon effect’ in Latin America :
(1) Spread of free trade zone in Western Hemisphere
(2) Rise of drug production in Latin America

(3) Increased export production

(4) Human trafficking

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : During the Cold War, when revolutionary militants advocated violent
‘Wars of national liberation’ throughout the Third World, Latin American states
aligned themselves with the anti-American forces.

Reason (R) : The guerrilla movements in Latin America used such measures to fight
against anti-imperialist forces.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.

(3) (A)is correct, but (R) is not correct.

(4) (A)isnot correct, but (R) is correct.

Who, among the following leaders, propounded a new ideology of Burma called
“Burmese Way of Socialism” ?

(1) NeWin (2) UNu
(3) Aung San (4) Aung San Suu Kyi
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Read the paragraph given below and answer the questions based on it, ranging from 71 to
75

Realists share the political perspective that the central purpose of the state is to protect
the citizen against internal and external danger. The requirement to defend national interests
results in the conception of national security being tied to military strength. The need to
ensure state survival is seen as overriding all other policy considerations. Realists see
governments and states as operating in terms of a clear hierarchy of issues when it comes to
determining and implementing government policy. There are any numbers of issues to
which a government might choose to pay attention and for which it will wish to develop
policies — healthcare, agricultural production, reduction of unemployment, construction of
transport networks, environmental protection, education, and so on. Defense and national
security compose one of these categories. But realists argue that in the hierarchy of issues
competing for the attention of government, national security always comes first; it always
wins out in the competition for limited governmental resources. This is because it is seen as
determining a country’s ability to have such a hierarchy in the first place. National security
determines whether a state or people are free from foreign domination or occupation. Only
if they are free can they take decisions about what their social or political priorities should
be. National security therefore has to take precedence overall other issues in order to
maintain national independence. Security is a value that states pursue, but the question of
how important security is for any collectivity is, and should be, open ended. Realists, in
contrast, foreclose such discussion by allowing the pursuit of security to take precedence
overall other possible objectives, and by then defining security in a very specific way.

Realism takes a number of forms, and during the 1990s a version was elaborated that
approximated more closely the actual experience of states within the international system.
“Offensive” versions of structural realism see security as a scarce resource, which states
pursue in a threat-filled environment. So-called defensive realism, however, acknowledges
that for many states the external environment may not be necessarily threatening in terms of
the traditional state-to-state military agenda. The need to respond to military security threats
in the external environment is an unusual occurrence to which states only rarely have to
respond. The security dilemma in the international anarchy is therefore not something that
all states face at all times, but is rather a contingent and comparatively rare reality.
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71. According to the realist view, which one of the following is not correct ?

1)
)
(3)
(4)

The central purpose of the State is to protect its citizens against internal dangers.
The State is also accountable to protect its people against external dangers.

The State is required to defend its national interests by using military capability.
The state doesn’t foresee any harmful threat.

72. For realists, which one of the following issues for governmental policy formulation
always comes first :

(1) National Security
(2) Environmental Protection
(3) Healthcare
(4) Reduction of unemployment
73. For realist thinking, National Security issues take precedence over all other issues,
because :
(1) National Security is irrevocably required to maintain national independence and
enjoy freedom from foreign domination.
(2) Governments don’t take up social issues willingly.
(3) Public policies and political reforms remain elusive.
(4) Developmental policies are rarely determined by foreign intervention and competition.

74.  Which one of the following arguments is inter-twined with the “offensive” form of realism ?

(1)

()
©)
(4)

States are required to pursue security in a fully cooperative environment to seek
goodwill.

States are required to pursue security in a threat-filled environment.
States are required to pursue security to bring global peace.
States are required to pursue security to achieve domestic superiority.

75.  Which one of the following arguments activates “defensive realism” ?

1)
(2)

(3)
(4)

Paper-I111

Inter-state cooperation in the anarchic international system is unlimited.

Many states see that the external environment may not necessarily be threatening in
terms of military agenda.

All states face security dilemma for all times to come.
The need to respond militarily is an external quest.
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